# Four Addends (2 Digit)

Name:

Solve each of the problems.

1) 88+14+11+29=

2) 68+34+89+66=

3) 13+37+50+54=

4) 81+34+15+43=

5 25+82+74+57=

6) 44+99+13+75=

7) 20+70+96+72=

8 34+98+38+73=

9 11+53+50+84=

10) 80+53+80+54=

11) 14+ 75+47 + 96 =

12) 15+51+39+53=

13) 65+56+49+75=

14) 79+55+45+70=
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ﬂh Four Addends (2 Digit) Name.Answer Key

Solve each of the problems. Answers
1) =
88+14+11+29 142 ) 149
2) 68+34+89+66= 257 2 257
3 154
3) 13+37+50+54= 154
4, 173
4 81+34+15+43= 173 5, 238
6. 231
5) 25+82+74+57= 238
7. 258
6) 44+99+13+75= 231 . 243
) 198
7) 20+70+96+72= 258
10. 267
8 =
) 34+98+38+73 243 . -
9 11+53+50+84= 198 1. 158
13. 245
10) 80+53+80+54= 267
14, 249
11) 14+75+47+96= 232
12) 15+51+39+53= 158
13) 65+56+49+75= 245
14) 79+55+45+70= 249
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Four Addends (2 Digit)

Name:

Solve each of the problems.

Answers

{

142 173 267
198 243 231

238
258

257
154 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

88+14+11+29=

68+ 34+ 89+ 66 =

13+37+50+54 =

81+34+15+43=

25+82+74+57=

44+99+ 13+ 75=

20+70+96+72=

34+98+38+ 73=

11+53+50+ 84 =

80+53+80+54=

10.
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